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Questions de cours

Soit un système à un degré de liberté décrit par le lagrangien L(q, q̇, t).

(a) Donner l’expression du moment p conjugué à la variable q.

(b) Donner la définition du hamiltonien H(q, p, t).

(c) Donner les équations de Hamilton. Démontrer, par la méthode de votre choix, ces équa-
tions.

Exercice 1
On considère le pendule double représenté à la Fig. 1 constitué
de deux masses ponctuelles m1 et m2, que l’on suppose égales
(m1 = m2 = m) et de deux tiges rigides de même longueur
l1 = l2 = l (dont on néglige les masses), placé dans le champ
de pesanteur d’accélération g. On suppose que les deux masses
oscillent dans le même plan vertical. On néglige tout frottement
de l’air. Soient θ1 et θ2 les angles que forment les masses m1 et m2

avec la verticale.
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Using Eq. (6.201) again to eliminate L we have

δ̈ +
(

3g
r0

sin α cosα
)
δ = 0. (6.205)

Therefore,

# =
√

3g
r0

sin α cosα. (6.206)

Having found the two desired frequencies in Eqs. (6.200) and (6.206), we see that their
ratio is

#

ω
=
√

3 sin α. (6.207)

This ratio #/ω is independent of r0. The two frequencies are equal if sin α = 1/
√

3,
that is, if α ≈ 35.3◦ ≡ α̃. If α = α̃, then after one revolution around the cone, r
returns to the value it had at the beginning of the revolution. So the particle undergoes
periodic motion.

Remarks: In the limit α → 0 (that is, the cone is very thin), Eq. (6.207) says that
#/ω → 0. In fact, Eqs. (6.200) and (6.206) say that ω → ∞ and # → 0. So the
particle spirals around many times during one complete r cycle. This seems intuitive.

In the limit α → π/2 (that is, the cone is almost a flat plane), both ω and # go to
zero, and Eq. (6.207) says that #/ω→

√
3. This result is not at all obvious.

If#/ω =
√

3 sin α is a rational number, then the particle undergoes periodic motion.
For example, if α = 60◦, then#/ω = 3/2, so it takes two complete circles for r to go
through three cycles. Or, if α = arcsin(1/2

√
3) ≈ 16.8◦, then #/ω = 1/2, so it takes

two complete circles for r to go through one cycle. ♣
6.19. Double pendulum

Relative to the pivot point, the Cartesian coordinates of m1 and m2 are, respectively
(see Fig. 6.49),

l1

l2

m1

m2

u

u

Fig. 6.49

(x, y)1 = (ℓ1 sin θ1,−ℓ1 cos θ1),

(x, y)2 = (ℓ1 sin θ1 + ℓ2 sin θ2,−ℓ1 cos θ1 − ℓ2 cos θ2).
(6.208)

Taking the derivative to find the velocities, and then squaring, gives

v2
1 = ℓ2

1θ̇
2
1 ,

v2
2 = ℓ2

1θ̇
2
1 + ℓ2

2θ̇
2
2 + 2ℓ1ℓ2θ̇1θ̇2(cos θ1 cos θ2 + sin θ1 sin θ2).

(6.209)

The Lagrangian is therefore

L = 1
2

m1ℓ
2
1θ̇

2
1 + 1

2
m2

(
ℓ2

1θ̇
2
1 + ℓ2

2θ̇
2
2 + 2ℓ1ℓ2θ̇1θ̇2 cos(θ1 − θ2)

)

+ m1gℓ1 cos θ1 + m2g(ℓ1 cos θ1 + ℓ2 cos θ2). (6.210)

The equations of motion obtained from varying θ1 and θ2 are

0 = (m1 + m2)ℓ2
1θ̈1 + m2ℓ1ℓ2θ̈2 cos(θ1 − θ2) + m2ℓ1ℓ2θ̇

2
2 sin(θ1 − θ2)

+ (m1 + m2)gℓ1 sin θ1,

0 = m2ℓ
2
2θ̈2 + m2ℓ1ℓ2θ̈1 cos(θ1 − θ2)− m2ℓ1ℓ2θ̇

2
1 sin(θ1 − θ2) (6.211)

+ m2gℓ2 sin θ2.

Figure 1

(a) Montrer que le lagrangien du système s’écrit comme 1

L = ml2
[

θ̇2
1 +

θ̇2
2

2
+ θ̇1θ̇2 cos (θ1 − θ2)

]
+ mgl(2 cos θ1 + cos θ2).

(b) En déduire les équations du mouvement.

(c) Dans la limite des petits angles (θ1 � 1, θ2 � 1), montrez que les équations du mouvement
se réduisent à

2θ̈1 + θ̈2 +
2g
l

θ1 = 0,

θ̈1 + θ̈2 +
g
l

θ2 = 0.

Exercice 2
On considère le système de la Fig. 2 constitué de deux masses
ponctuelles de même masse m, placés dans le champ de pesan-
teur d’accélération g. On néglige tout frottement de l’air. Les deux
masses sont reliées par un fil de longueur L et de masse négli-
geable via deux poulies (de tailles négligeables). Soit ` la distance
de séparation entre les deux poulies. La masse de gauche peut se
mouvoir uniquement verticalement, alors que la masse de droite
est libre d’osciller dans le plan formé par les masses et les poulies.
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Second proof: Our “Lagrangian,” L = f (y)
√

1 + y′2, is independent of x.
Therefore, in analogy with the conserved energy given in Eq. (6.52), the quantity

E ≡ y′
∂L
∂y′
− L = −f (y)

√
1 + y′2

(6.92)

is independent of x. Call it 1/
√

B. Then we have easily reproduced Eq. (6.91).
For practice, you can also prove this lemma by considering x to be a function of
y, as we did in the second solution in the minimal-surface example above.

6.9 Problems

Section 6.1: The Euler–Lagrange equations

6.1. Moving plane **
A block of mass m is held motionless on a frictionless plane of mass M
and angle of inclination θ (see Fig. 6.8). The plane rests on a frictionless

m

M
u

Fig. 6.8

horizontal surface. The block is released. What is the horizontal accel-
eration of the plane? (This problem already showed up as Problem 3.8.
If you haven’t already done so, try solving it using F = ma. You will
then have a greater appreciation for the Lagrangian method.)

6.2. Two falling sticks **
Two massless sticks of length 2r, each with a mass m fixed at its middle,
are hinged at an end. One stands on top of the other, as shown in Fig. 6.9.

m
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r

r

ε

Fig. 6.9

The bottom end of the lower stick is hinged at the ground. They are held
such that the lower stick is vertical, and the upper one is tilted at a
small angle ϵ with respect to the vertical. They are then released. At this
instant, what are the angular accelerations of the two sticks? Work in
the approximation where ϵ is very small.

6.3. Pendulum with an oscillating support **
A pendulum consists of a mass m and a massless stick of length ℓ.
The pendulum support oscillates horizontally with a position given by
x(t) = A cos(ωt); see Fig. 6.10. What is the general solution for the

l

m

Fig. 6.10 angle of the pendulum as a function of time?

6.4. Two masses, one swinging ***
Two equal masses m, connected by a massless string, hang over two
pulleys (of negligible size), as shown in Fig. 6.11. The left one moves

m

r

m

u

Fig. 6.11

in a vertical line, but the right one is free to swing back and forth in the
plane of the masses and pulleys. Find the equations of motion for r and
θ , as shown.

Assume that the left mass starts at rest, and the right mass undergoes
small oscillations with angular amplitude ϵ (with ϵ ≪ 1). What is theFigure 2

1. On rappelle que cos (α− β) = cos α cos β + sin α sin β.

1



(a) Étant données les contraintes sur les deux masses énoncées ci-dessus, justifier du fait
que le système n’a que deux degrés de liberté et est complètement décrit par les deux
coordonnées généralisées r et θ (voir Fig. 2).

(b) Montrer que le lagrangien du système s’exprime comme

L = mṙ2 +
m
2

r2θ̇2 + mgr(cos θ − 1).

(c) En déduire les équations du mouvement.

Exercice 3

On considère une particule ponctuelle (non relativiste) de masse m placée dans un potentiel
central V(r), où r =

√
x2 + y2 + z2, avec (x, y, z) les coordonnées cartésiennes. On note v = ṙ

la vitesse et v2 son carré. On étudie le problème en coordonnées sphériques (r, θ, ϕ), définies
par

x = r sin θ cos ϕ, y = r sin θ sin ϕ, z = r cos θ.

(a) Montrer que le lagrangien du système est donné en coordonnées sphériques par

L =
m
2
(
ṙ2 + r2θ̇2 + r2 sin2 θ ϕ̇2)−V(r).

(b) Calculer les moments pr, pθ , et pϕ conjugués, respectivement, aux coordonnées générali-
sées r, θ, et ϕ.

(c) Quelle coordonnée généralisée est cyclique ? Quelle est la quantité conservée associée (et
pour quelle raison de symétrie) ? Montrer que cette quantité correspond au moment ciné-
tique Lz selon z.

(d) En déduire le hamiltonien H du système.

Exercice 4

Soit le lagrangien

L(x, y, ẋ, ẏ) = ẋẏ− γ

2
(yẋ− xẏ)−ω2xy,

où x et y sont deux variables généralisées, et où γ et ω sont des constantes réelles et positives.

(a) Écrire les deux équations de Lagrange pour ce système. Laquelle de ces deux équations
décrit l’évolution temporelle d’un système physique dissipatif ?

(b) Calculer la fonction E(x, y, ẋ, ẏ) telle que définie en cours. Cette quantité est-elle conservée
(on justifiera la réponse) ?

(c) En déduire le hamiltonien H(x, y, px, py), où px et py sont, respectivement, les moments
conjugués aux variables x et y.

(d) Expliciter les quatre équations de Hamilton.
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